

- --

PROJECT PROPOSAL

Project: City of Spring Lake Park Phase 1 Contact: Wanda Brown
Salesperson: Brad Bruhn
Designer: Madelyn Mitchell / Barb Perry
System: Herman Miller AO2
Date: March 13, 2024

PRODUCT SPECIFICATIONS

160 Office			
<u>Qty.</u>	Description	Unit Price	Total Price
3	60" Wall Track - (Cut to Fit - 25")	37.60	112.80
15	Toggle	2.16	32.40
15	Wall Fastener, Machine Screw	0.33	4.95
1	24 x 30" Worksurface	88.00	88.00
1	24 x 72" Worksurface	150.40	150.40
1	Pencil Drawer	28.80	28.80
1	Box / Box / File Pedestal - B Front	202.50	202.50
1	HAT L-Unit 3 Leg Adjustable Hi Height Table Base	698.93	698.93
	- Model #: HAT3-HI-L		
	- Finish: <u>Standard Finish - TBD</u>		
1	HAT Envoy Dual Articulating Arm	252.45	252.45
	- Model #: ENVOY-2		
	- Finish: Silver		
1	Humanscale NeatTech Mini Wire Management	72.57	72.57
	- Model #: NT1MGG	_	
	- Finish: <u>Standard Finish - TBD</u>		
		160 Office Subtotal:	1,643.80
162 Office		-	
<u>Qty.</u>	Description	Unit Price	Total Price
2	60" Wall Track	37.60	75.20
1	60" Wall Track - (Cut to Fit - 25")	37.60	37.60
25	Toggle	2.16	54.00
25	Wall Fastener, Machine Screw	0.33	8.25
1	24 x 30" Worksurface	88.00	88.00

25	Wall Fastener, Machine Screw	0.33	8.25
1	24 x 30" Worksurface	88.00	88.00
1	24 x 96" Worksurface	201.80	201.80
1	24" End Panel	99.12	99.12
1	42" Shelf	60.40	60.40
1	42" Tackboard	92.64	92.64
1	42" Tasklight	63.68	63.68
1	Herman Miller 36" Round Everywhere Table	357.60	357.60
1	HAT L-Unit 3 Leg Adjustable Hi Height Table Base - Model #: <i>HAT3-HI-L</i> - Finish: <u>Standard Finish - TBD</u>	698.93	698.93
1	HAT Envoy Dual Articulating Arm - Model #: <i>ENVOY-2</i> - Finish: <i>Silver</i>	252.45	252.45
1	Humanscale NeatTech Mini Wire Management - Model #: <i>NTIMGG</i> - Finish: <u>Standard Finish - TBD</u>	72.57	72.57

162 Office Subtotal: _____2,162.24

Police Department Reception

once Depa			
<u>Qty.</u>	Description	Unit Price	Total Price
2	39 x 30" Non-Powered Fabric Covered Panel	137.80	275.60
4	39 x 48" Non-Powered Fabric Covered Panel	172.40	689.60
2	60" Wall Track - (Cut to Fit - 25")	37.60	75.20
4	60" Wall Track	37.60	150.40
58	Toggle	2.16	125.28
58	Wall Fastener, Machine Screw	0.33	19.14
2	34" Wall Start	45.20	90.40
4	34" Draw Rod	8.40	33.60
2	39" 2-Way Connector	37.20	74.40
2	39" Finished End, Metal	33.40	66.80
2	24 x 48" Worksurface	104.20	208.40
2	24 x 96" Worksurface	201.80	403.60
2	48" Shelf	62.40	124.80
2	48" Flipper Door	113.60	227.20
2	48" Tackboard	97.68	195.36
2	48" Tasklight	64.80	129.60
2	Pencil Drawer	28.80	57.60
2	Box / Box / File Pedestal - B Front	202.50	405.00
2	File / File Pedestal - B Front	195.12	390.24
2	HAT L-Unit 3 Leg Adjustable Hi Height Table Base - Model #: <i>HAT3-HI-L</i> - Finish: <u>Standard Finish - TBD</u>	698.93	1,397.86
2	HAT Envoy Dual Articulating Arm - Model #: <i>ENVOY-2</i> - Finish: <i>Silver</i>	252.45	504.90
2	HAT CPU Holder with Track - Model #: <i>CPU-HLDR-2-BLK</i> - Finish: <u>Standard Finish - TBD</u>	76.13	152.26
2	Humanscale NeatTech Mini Wire Management - Model #: NTIMGG	72.57	145.14

- Finish: Standard Finish - TBD

Shared Office Police Department

ce ronce Department		
Description	Unit Price	Total Price
39 x 30" Non-Powered Fabric Covered Panel	137.80	551.20
53 x 48" Non-Powered Fabric Covered Panel	207.40	414.80
60" Wall Track	37.60	188.00
Toggle	2.16	133.92
Wall Fastener, Machine Screw	0.33	20.46
34" Wall Start	45.20	90.40
48" Wall Start	45.20	45.20
34" Draw Rod	8.40	16.80
48" Draw Rod	8.60	17.20
53" 3-Way Connector	73.80	73.80
Change of Height, Panel to Connector	9.40	18.80
39" Finished End, Metal	33.40	133.60
24 x 48" Worksurface	104.20	208.40
24 x 96" Worksurface	201.80	403.60
48" Shelf	62.40	187.20
48" Flipper Door	113.60	340.80
48" Tackboard	97.68	293.04
48" Tasklight	64.80	129.60
Pencil Drawer	28.80	57.60
Box / Box / File Pedestal - B Front	202.50	405.00
File / File Pedestal - B Front	195.12	390.24
	Description39 x 30" Non-Powered Fabric Covered Panel53 x 48" Non-Powered Fabric Covered Panel60" Wall TrackToggleWall Fastener, Machine Screw34" Wall Start48" Wall Start34" Draw Rod53" 3-Way ConnectorChange of Height, Panel to Connector39" Finished End, Metal24 x 48" Worksurface24 x 96" Worksurface48" Flipper Door48" Tackboard48" TasklightPencil DrawerBox / Box / File Pedestal - B Front	Description Unit Price 39 x 30" Non-Powered Fabric Covered Panel 137.80 53 x 48" Non-Powered Fabric Covered Panel 207.40 60" Wall Track 37.60 Toggle 2.16 Wall Fastener, Machine Screw 0.33 34" Wall Start 45.20 48" Wall Start 45.20 34" Draw Rod 8.40 48" Draw Rod 8.60 53" 3-Way Connector 73.80 Change of Height, Panel to Connector 9.40 39" Finished End, Metal 33.40 24 x 48" Worksurface 104.20 24 x 48" Worksurface 201.80 48" Shelf 62.40 48" Tackboard 97.68 48" Tasklight 64.80 Pencil Drawer 28.80 Box / Box / File Pedestal - B Front 202.50

Police Department Reception Subtotal: 5,942.38

2	HAT L-Unit 3 Leg Adjustable Hi Height Table Base - Model #: <i>HAT3-HI-L</i> - Finish: <i>Standard Finish - TBD</i>	698.93	1,397.86
2	HAT Envoy Dual Articulating Arm - Model #: <i>ENVOY-2</i>	252.45	504.90
2	 Finish: Silver Humanscale NeatTech Mini Wire Management Model #: NT1MGG Finish: Standard Finish - TBD 	72.57	145.14

	Shared Office Police	e Department Subtotal:	6,167.56
Squad Room		-	
<u>Qty.</u>	Description	Unit Price	Total Price
5	53 x 48" Non-Powered Fabric Covered Panel	207.40	1,037.00
21	60" Wall Track	37.60	789.60
230	Toggle	2.16	496.80
230	Wall Fastener, Machine Screw	0.33	75.90
5	48" Wall Start	45.20	226.00
5	48" Draw Rod	8.60	43.00
5	53" Finished End, Metal	36.20	181.00
7	24 x 60" Worksurface	132.60	928.20
14	30" Shelf	55.00	770.00
14	30" Flipper Door	91.20	1,276.80
7	60" Tackboard	119.28	834.96
7	30" Tasklight	59.36	415.52
12	Pencil Drawer	28.80	345.60
2	HAT CPU Holder with Track	76.13	152.26
	- Model #: CPU-HLDR-2-BLK		
	- Finish: <u>Standard Finish - TBD</u>		
2	Humanscale NeatTech Mini Wire Management	72.57	145.14
	- Model #: NTIMGG		
	- Finish: <u>Standard Finish - TBD</u>		
		Squad Room Subtotal: =	7,717.78
Interview Ro			
<u>Qty.</u>	Description	Unit Price	Total Price
1	Herman Miller 36 x 42" Table Everywhere Table	450.33	450.33
		_	
	Int	erview Room Subtotal: _	450.33
Power		-	
<u>Qty.</u>	Description	Unit Price	Total Price
15	HAT Surface Mounted Power Data Module 2 Power Receptacles, 1 USB-A, 1 USB-	C 109.50	1,642.50
	- Model #: SMPM-3AC-C		
	- Finish: <u>Standard Finish - TBD</u>		
		Power Subtotal: =	1,642.50
	Harmon Millon Duising non Contract # 144492		
	Herman Miller Pricing per Contract # 144482 State Contract Release F-464(5)	Product Subtotal:	25,726.59
	Global Pricing per U of M Contract U42.112		23,120.37
	Global Pricing per U of M Contract U22.112		

Finishes:

Fabric: TBD (CAT 1)

HAT Pricing Per TIPS Contract #230301

Humanscale Pricing per E&I Contract #CNR01511

Non-Contra 160 Office	ct Product		
Qty.	Description	Unit Price	Total Price
1	24 x 36 x 72 x 30" Extended Corner Worksurface, Right - Mount on HiLo	249.21	249.21
1	Workrite Worksurface Joining Kit	54.81	249.21 54.81
1	- Model #: AWC-JOINKIT-B	57.01	54.01
	- Finish: <u>Standard Finish - TBD</u>		
1	Great Openings 42" 2-High Square Bookcase 1 Adjustable Shelf	315.94	315.94
	- Model #: <i>GBS4228</i>	—	
	- Pull Style: <u>Standard Pull Style - TBD</u>		
	- Finish: <u>Standard Finish - TBD</u>		
		160 Office Subtotal:	619.96
161 Huddle			
Qty.	Description	Unit Price	Total Price
1	42 x 72" Round End Peninsula with 2 Stiffeners and Brackets	243.92	243.92
1	42" End Panel	185.82	185.82
1	Gibraltar H-Leg, 24" Spread, 6 x 26" Top Plate	127.33	127.33
	- Model #: 3324		
	- Finish: <u>Standard Finish - TBD</u>	221.00	221.00
1	Great Openings 42" 2-High Square Bookcase 1 Adjustable Shelf - Model #: <i>GBS4228</i>	331.88	331.88
	- Model #: GBS4228 - Pull Style: <u>Standard Pull Style - TBD</u>		
	- Finish: <u>Standard Finish - TBD</u>		
		161 Huddle Subtotal:	888.95
162 Office		=	
<u>Qty.</u>	Description	Unit Price	Total Price
1	30 x 72 x 36 x 24" Extended Corner Worksurface, Left - Mount on HiLo	249.21	249.21
1	Workrite Worksurface Joining Kit	54.81	54.81
	- Model #: AWC-JOINKIT-B		

	- Finish: <u>Standard Finish - TBD</u>		
1	Great Openings 36 x 18-1/4 x 28-3/8" Double Door Storage Cabinet (1 Adjustable Shel	f) 477.50	477.50
	- Model #: <i>CF-02F3</i>		
	- Pull Style: Standard Pull Style - TBD		
	- Finish: <u>Standard Finish - TBD</u>		
1	Great Openings 36 x 18-1/4 x 28-3/8" Box / Box / File Lateral File	485.31	485.31
	- Model #: <i>RG-C438</i>		
	- Pull Style: Standard Pull Style - TBD		
	- Finish: <u>Standard Finish - TBD</u>		
		162 Office Subtotal:	1,266.83
Police Depa	rtment Reception		
<u>Qty.</u>	Description	Unit Price	Total Price

1	24 x 72 x 48 x 24" Extended Corner Worksurface, Left - Mount on HiLo	359.30	359.30
1	24 x 48 x 72 x 24" Extended Corner Worksurface, Right - Mount on HiLo	359.30	359.30
4	NW Glass 8 x 48" Frameless Glass Tempered 1/4" Thick Clear	34.68	138.72
8	CRL Frameless Glass Bracket for 1/4" Thick Glass, Brushed Stainless, Z906BS	32.28	258.24
			1 115 57
	Police Department Re	eception Subtotal:	1,115.56
Shared Offi	e Police Department		
Qty.	Description	Unit Price	Total Price
	t	ontrite	
2	24 x 72 x 48 x 24" Extended Corner Worksurface, Left - Mount on HiLo	359.30	718.60

Squad Roon	1		
<u>Qty.</u>	Description	Unit Price	Total Price
2	 ABF 30 x 72" Table on Gibraltar 32"H T-Legs on Casters and Anti-Sag Bar - 49" Base Model #: <i>DH5056</i> Anti-Sag Model #: <i>9114-4900</i> Pull Style: <u>Standard Pull Style - TBD</u> Finish: <u>Standard Finish - TBD</u> 	665.03	1,330.06
		Squad Room Subtotal:	1,330.06
	Non-C	ontract Product Subtotal:	5,939.96
Lo	cation:		
Ins	tall & Service Costs:		
	Regular Hours, Non-Prevailing Wage Installation		3,380.00
	Delivery, State of MN Remanufactured Contract		No Charge
	Delivery, Non-State Contract	-	350.00
NOTE:			
	Valid for 30 Days	Services Subtotal:	3,730.00
		Product Total:	31,666.55
		Services Total:	3,730.00
		Gibraltar Freight:	182.60
		reat Openings Surcharge:	29.12
	NW	Glass Energy Surcharge:	14.56
		Humanscale Freight:	12.43
		PROJECT TOTAL:	35,635.26

Applicable Sales Taxes will be added at time of invoicing. Pricing Subject to Unannounced Tariff Surcharges.



TERMS & CONDITIONS

FINISHES:

Fabric, Laminate & Paint: Standard selections included in pricing, unless noted otherwise. (Customer Choice from ABF selection).

*Please note: Many commercial fabrics are subject to what is termed *moisture regain*. This is a process by which the fibers within a particular fabric absorb moisture from the surrounding environment resulting in temporary relaxing (or sagging) of a fabric's appearance. This sagging is not the result of misapplication, but rather the fabric's natural reaction to fluctuations in ambient humidity levels.

PRODUCT:

*Pricing valid for 30 days from proposal date.

*Pricing subject to unforeseen manufacturer imposed tariffs, price changes, and fuel surcharges

*Products quoted are based upon most current field dimensions available. ABF will attempt to verify field dimensions as construction progress and circumstances allow. Should it be necessary to place orders prior to the availability of verified field dimensions, customer may be responsible for associated costs.

*All sales are final. Unwanted product ay not be returnable, or subject to re-stock charges.

*Charges may be applicable should storage of purchased product be necessary beyond initially scheduled timeframes.

LABOR & EQUIPMENT:

*ABF will be responsible for supplying all necessary labor & equipment to perform the installation.

*Labor is quoted as non-union labor.

*Labor is quoted for regular working hours (Monday-Friday; 8:00 A.M. - 5:00 P.M.).

*Customer will be responsible to have all miscellaneous items cleared out prior to installation.

*Delays created by customer or other contractors may create additional labor charges.

*Labor is quoted as a one phase project. (split dates will require additional charges).

*Install and delivery quote is based on first floor delivery and install with clear access without steps.

ELECTRICAL:

*Customer will be responsible to have a qualified electrician to perform all electrical connections including hardwiring, panel-to-panel and receptacles.

TERMS:

Net 15 days unless other arrangements made with Seller. A 50% deposit may also apply. Buyer understands and agrees to pay a service charge of 1.33% per month (16% per annum) after 15 days of receipt of goods. Buyer further agrees to pay ALL costs of reasonable collections and attorneys fees. Buyer acknowledges Seller's retention and hereby grants to Seller a purchase money security interest in all merchandise purchased or described herein unless and until Seller receives payments as described above. Buyer agrees to execute a standard UCC Financing Statement to perfect any such security interest. In the event Buyer fails to execute UCC financing statement, this Sales Agreement shall suffice and may be filed by Seller to perfect the security interest.

Signature:

Title_____

Date: